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Q.1

Q.2

Q.3

Solve the following questions (9th std)

1) Ans. Converse: If a figure is a triangle then the sum of all angles of the figure is 180°.

2) Ans. If a number is a prime number then it has only two divisors.
3) Ans. Converse: If two angles are complementary then their sum is 90°.
4) Ans. (i) IVth quadrant.
(i) 1Ind quadrant.
Solve the following questions (9th std) (ANY TWO)

1) Ans. 2tan 45° + cos 30° - sin 60°
BB B

=2Xl+-2——7
=2+0
=2

2) Ans. 1) The co-ordinates of point E are (2, 1)
2) The co-ordinates of point F are (-3, 3)
3) The co-ordinates of point G are (-4, -2)
4) The co-ordinates of point T are (3,.-1)

3) Ans. cos 60° x cos 30° +sin 60° x sin 30°
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. c0s 60°x cos 30° +sin 60° x sin 30°= %
Choose the correct alternative:
1)Ans. (a)
Ratio in the areas of two similar triangles
=9cm’: 16 cm*=9: 16
** The areas of similar triangles are proportional
to the squares of their corresponding sides

"~ Ratio 1n their corresponding sides
—— 9 — 3 — 3 . 4
“Nis & e
2)Ans. (a)




The corresponding angles of two isosceles
triangles are equal

*. These are similar
Ratio in their areas = 16 : 25

" The ratio of areas of similar triangles are
proportion to the squares of their corres-
ponding altitudes (heights)

U—
. tio 1n their altitudes = X = 5

=1e,4:5 (a)
3)Ans. (a)

In AABC, XY || BC
BY is the bisector of £XYC

A

B

A 4
m

s £XYB=ZCXB sild)
" XY ||BC
. £XYB=/4ZXBC (Alternate angles)
(1)
From (i) and (i)
ZCYB=ZYBC
s BC=CY (a)
4) Ans. (a)
AABC ~ ADEF
LA =47° LE = 83°
* AABC and £DEF are similar
. LA=4D, £ZB = £E and £C = £LF
LA =47°
£ZB= ZE = 83°
But ZA + ZB + LC = 180°
(Sum of angles of a triangle)
s 47°+ 83+ ZC = 180°
= 130°+ ZC =180° = £C = 180° - 130°
= ZC = 50" (a).
5)Ans. (a)



In AABC, AD is the bisector of ZBAC
AB=8cm,BD=6cmand DC=3cm

A

8cm x

B

6cm D 3cm c

Let AC=x
~* In AABC, AD is the bisector of LA

oW AC=4cm (a)
Q4 Solve the following questions (ANY TWO)

1) Ans. A(APQR) = % xQRxPS .1 [Formula]

A(APQR)= % xPRxQT ... 2

%xPRxQT= % xQRxPS

[From 1 and 2]
L. 12xQT=6x6

S.QT= —
9 12
.. QT =3 units

2)Ans. : InA ABC, DE || BC
. AD_AE
" DB EC
" 54 72

..... Basic proportionality theorem

S AEXS. 4'=1.8%7.72
1.8x7.2

S ABS 54

=24

AE=2.4cm



3)Ans. In A PRQ, seg RS bisects £ R.

PR PS S ;
e S e property of angle bisector
RQ SQ

15 12

20 SQ

12 X 20

SQ = ———

Q 15

SQ =16

Q.5 Complete the following Activities (ANY FOUR)
3)Ans. 9x A (APQR) A(ALMN) ....(Given)

9 _AALMN)
16 AAPQR)
. AALMN) [9] .
I i — (l)
AAPQR) 16
In ALMN and APQR,  ...... (Given)

AULMN) _ MN?
A(APQR)  QR2
areas of similartriangles)

9] MN?

16] 202

3
| =|= —— ....(Taking square roots
7 ( gsq )

- = 3320

4
. MN=[13]
.". MN =[15]units

4)Ans, LetA; & A; be two similar triangles with s; &
s, be their corresponding sides.
A(Ar) =|225 cm? A(A))=81cm?,s2=12cm
[Given]
A;~A; [Given]

Al 5]
AQ) s,
[Theorem on areas of similar triangles]
|225] s

81 122

p x 12x 12 %
B 81
_15x12

X

. 5, <0cm]
Length of corresponding side of bigger
triangle is.

[Taking square roots]




seg[BC]

5)Ans. seg AD || [Given]
= «PCB

1 [Alternate angles theorem]
In AAPD & ACPB
(i) £PAD =

[From 1]
(i1) zAPD = «CPB
ertically opposite anglesi
~ AAPD ~ ACPB [AA test]
. Ap _PD]
" CP PB
3 £ == [Altemando]
PD PB
AP |PC
l_e_ — | —
PD |[BP
Q.6

Solve the following questions (ANY FIVE)
1) Ans. Given :

line / || line m || line n

II
'Y
L, and 1, are transversals. *\
Transversal 1t intersects the o A ‘,\,'P 5]
lines in points A, B, C and t, / A\
) . . : ¢ B/ 10
intersects the lines in points P, — = s m
P \
QQ R- ) (./_". “'x']{ G
AB P \
To prove : — = ) /
BC QR

Proof : Draw seg PC , which intersects line » at point D.
In A ACP, BD || AP

AB_PD
"BC pC

(I) (Basic proportionality theorem)
In A CPR, DQ || CR

(1) (Basic proportionality theorem)

from (1) and (II). . AB_PQ

BC QR

15



2) Ans.

3) Ans.

b o
PR 3

E=% [From 1 & 2]
PR RM

". Ray PM bisects ZQPR.
PQ _
— == 1
®) PR 7

QM _8 _4 )

In APQR, 9.9 [From 1 & 2]
PR RM

.. Ray PMbisects ZQPR.

InAXDE.PQIDE  .......... Given
_XP |40
PD| QE

(I) (Basic proportionality theorem)

In AXEF,QRIEF ... Given
X
el _[xr] a| BrT.
QE| |RE|
X
8] xRl from (T) and (II)
QE| |RF]

~segPR || seg DE
....... (Converse of basic proportionality

theorem)



4)Ans. AR=5AP [Given]

AR 5 )
AP 1
SegPQ |l segRS [Given]
. LASR = £AQP
...... 2 [Alternate angles theorem]
In ASAR and AQAP
(i) £ASR = £AQP [From 2]

(ii) £SAR = £QAP
[Vertically opposite angles]
. ASAR ~AQAP [AA test]
SR AR

L — = — [csst]
QP AP

3 & = 5 [From 1]
QP 1

. SR=5QP

i.e. SR=5PQ

5) Ans. AABC & ADEF are equilateral triangles.
Equilateral triangles are always similar.
. AABC~ADEF

A(AABC) _ AB’

A(ADEF) DE?

[Theorem on areas of similar triangles]
L .. B

" 3 DE*
-.DE*=16x2
. DE=4 «ﬁ cm
6) Ans. A(APQF)=20 units, PF=2 DP, Letus

assume DP=x._.. PF=2x

RESDET 1 g | =) 2 [ =
=3x

In A FDE = A FPQ.

£FDE = £FPQ corresponding angles
£FED = £FQP corresponding angles
~AFDE~AFPQ ... AA test

_ AQAFDE) _[DF?| _3»* _9

TAQFPQ) 2| (x? 4

A(A FDE) =% A(AFPQ)= % x| 20 45

$q. units

A(O DPQE) = A(AFDE) — A(A FPQ)

Tl 45 |7 20




